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! COMMON QUARTERLEY EXAMINATION - 2019 '-
. Standard IX Reg.No |_| | U_J__j I
lime 2 30 hours MATHEMATICS Marks 100 i

~ Part-| :

I. Choosa the correct answer: 14x1=14 !

I BeoA thon n(ANB) Iu .

a) n(A-1) b) n(B) ¢) (B -A) d) n(A) !

210 A = (x.y.2) then the number of non-emply ¢ subsels of A ig i

a) 8 b) c) 6 wf 7 ;

31U = (x xe Nand x < 10}, A= {123, B) and B = (2,5,6,7,9), then n[(AwB) ] is |

RS h) 2 ¢) 4 d) 8 |

4. For any three sots P.Q and R, P-(QuR)Is _
a) P (QUR) b) (PHQ)-R WP-QuP-R)  d (P-Q)(P-R)
CEABNB-AN=___ . ‘
a)y AB “b) b c) A d) B
6. Which of the following has a terminaling decimal expansion?

il 8, B % o s & Yo

f. 0344034 = :

" LT o iAo, T ST S AL AT AR A -

) 0.687 b) 068 c) 0.68 d) 0687
8 If V80 - k5, thenk= ;
a) 2 by 4 c)8 d) 16
! 9. If Jogv - Yo? . then x = ;
; a) % Y o % d %
\ L @ If N =a x 10" and 'n"is an integer is called as scientific notation. where a is
; a) 1a<10 B 1<a<10 c)1<a<10 d 1<ac10
; 1. IfP(@)=0,then(x-a)isa______ of P(x).
E‘ a) divisor b) quotient c) reminder \d/factor
I' 12. (x +y) (x?-xy +y?)isequalto -
\ a) (x+y) b) (x-y)’ \G vy d) x*-y’
N 13. GCD of any two prime numbers is .
a) -1 b) 0 ‘{)’1 : d) 2
@. Which of the following is true?
% ) Number of zeros of a polynomial < the degree of the polynomial

b) Number of zeros of a polynomial < the degree of the polynomial
c) The degree of the polynomial < Number of zeros of a polynomial
d) The degree of the polynomial < Number of zeros of a polynomial
Part - Il (Marks 20)
Il. Answer any 10 questions: (Ques.No.28 is compulsory) 10x2=20
1+ 15. Define Power set.
/16. Represent (A~B)’ through Venn diagram. :
v17. If P ={2,3,5,7,11} and Q = {1,3.5,11} then find the symmetric difference between the sets.
VA8. If n[P(A)] = 256, find n(A).
19. Out of 500 car owners investigated, 400 owned car A and 200 owned car B, 50 owned
both A and B cars. Is this data correct?
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v/20. Convert 0.45 in the form of % (p.qeZ and q # 0)
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. [X Mallis
21 Divide 9 WA by L@
3 4 t\pmm 0 sClontie Nolalon ) 0 0ABAZART 1) 72004768 Al f

N3 Splify (2 75 6 100 (120X 10

: \;:l bind the value of mif s 2 i afactor of e polynomial 25" - Gx¢ © x4

i YOO Expand (da o dwy

i 20 Factonse 27y fy!

i 27 Find the QCD  xte 1 8 - |

\ 28 Factowse 0 2x's 16y . 27 00 ik ¢

N Part < 1l (Marks 60)

N N Answer any 10 questions: (Quen.No 42 s compulaory) x4 =50
; N20 Vonty A (B Gy s A 1) (A O using Vonn diagrams

! A0 R = N W and O 5 x 10} Q= (% k=201 ne W oand n o= f) ol

: Roa (2367 0000 then verty B (Q Ry« (10 Q) (1" 1) -
XS \\H, WU X2 0L A= (ox=2pel pe 2 doped) Ba (o xsdqed, qo 2, - 1-q-4),
;‘\;“m then Venty (A B) =AY
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Let U= {0 12345670 A= (LAL7) and B = (0.2 3,6 7), find tha following sets

oA B t}\ BN I )y

N33 10 a colony, 275 families buy Tamil nawspaper, 15H0 familias buy [ nglish newspapel, 45
famiies buy Hindt newspapor, 126 families buy Tamil and English newspapers, 17 faviites
buy Enghsh and Hindi newspapars. & families buy Tamil and Hindi newspapers and 3
famiies buy all the thiee newspapers If each family buy atleast one of thata newspapers
then find 1) Number of families buy only one nawspaper

1) Number of fanmulies buy atleast two newspapers

u) Total number of tamilles in the colony.
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N34, Arrange in ascending ordar. V2. ¢4, ¥
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Express ‘f(1(}‘,.1] 2 ts simplest form and find ts oder, radicand and coufficiont

G‘Snnphly 53 R0 - 2 25 33320

v
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Find the value of a and b if ° 2 =av7T +b

. Find the area of square whose side length is 3m + 2n - 4¢-

39. If %% ;‘-.- 23 then find the value of X l and X34 :1

40 Find quotient and the remainder when f(x) is divided by g(x)

f(x) = (8x* - 6x° + 16x - 7), g(x) = 2x + 1

41 If the quotient obtained on dividing 3x' + 11x* + 34x + 106 by x = 3 is 3x* + ax + b, then find
a.b and also the remainder.

42. Factorise: x' - 5x’ - 2x+ 24

Part - IV (Marks : 16)
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IV. Answer both questions: ' 2x8=16
43~4) Construct the \LMN such that LM = 7.5 cm, MN = § cm and LN = 8 cm. Locate its centroid.
(or)
‘\’g} Construct \PQR whose sides are PQ = 6 cm, ..Q = 60° and QR = 7 cm and locate its
orthocentre.
44.\.6') Draw the graph fory = 3x ~ | (or)
b) Draw the graph for 3x + 2y = 14
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